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Question 1- Select the number that can replace the question mark (?)
in the following series.

99 |- ETRIT @t W 39 E&AT 1 =3 il S 94 g (2)
T o Hehel! 2

4,2,2,3,6,15,?

A. 25

HYO-S):z 39= ¢ B. 45
2 S 15 30 D 55
rs=5 8x 5= yg E. 65
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Question 2- Select the number that can replace the question mark (?)

in the following series.
99 2- TR @t W 39 H&AT T =3 hilsr ST 94 7 (?)

AV IRTR L LR 2l
?, 400, 2000, 8000, 24000, 483000

Pely = \_AN_/ —A. 100
6 2, X5 >(J7 X3 XQ . 200

oo

S C. 50

\5 D. 150
E. 360 Mne.
s —
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Question 3- Select the number that can replace the question mark (?)
in the following series.

T4 3- THEITRIT @t W 39 H&AT T =3 il ST 94 7 (?)
T o Hehel! 2

2,5,16, 65,326, ?

A. 1157
UVRH =S | 16k4+(= 65 B. 2157
e o @ &
| xeh= |56 E. 957

= 193¢
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Question 4- Select the number that can replace the question mark (?)
in the following series.

T 4- THATTRIT J@AT H 39 HEAT T =3 il ST 94 97 (2)
T o Hehel! 2

102, 100, 97, 92, 85, ?, 61

A. 54

IR v

89-11~ 14 30 D. 44
— E. None of these
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Question 5- Select the number that can replace the question mark (?)

in the following series.

T4 5- THETTRIT @t | 39 E&AT T =3 s ST 94 97 (?) H

AT o Fohdl| %I
9, 16, 30, 58, 114 ?

IOy

> HX3-Q= 2

30

Ton ¥

https://t.me/mathbytarunsirmepl
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224
236
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Question 6- P can do a work 1n 40 days and Q can do the same work 1n
20% less time taken by P. P and Q start working together, then find in how
much time 75% of the total work will get completed.

T 6- P Ueh &1 ohl 40 Tt O ot amar g 31 Q 36t & &l P 51T feiw 71w
20% A HHI H L EehaT &l P 3T Q Teh GTY 1Y HiAT I hid &, ol J1a
ShITST Toh et Tl BT 75% Torde Ew | 91 1T

A. 11.33. days
B. 12.33 days
30 —€_ 13.33 days
D. 14.33 days
E. None of these
https://t.me/mathbytarunsirmepl
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Question 7- P invested some amount of money in a scheme and Q invested
Rs. 100 more than the money invested by A 1n the same scheme at the rate of
20% per annum compounded annually for 2 years. If the total compound

Interest 1s Rs. 1848, then find the amount invested by P

T 7- P A Teh FISHT H e TIRT 1 4T foham S Q + SHT ASHI H A g e
hT IS TIST & 100 9 3TTereh 20% Jid 9 <hl ST H 2 9] o [0 1Yk &9 9
GRS foraT| afe et wishale saTST 1848 ¥R 2, AT P8R fryarst 3 178 Uiy 31

SR Cj 30 A. Rs 1,000
ﬁgﬁ;\;_ - Q= HUy B. Rs 3,000
[% - C. Rs 2,000
I D. Rs 5,000
https://t.me/mathbytarunsirmepl %= None of these
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D P= X 8&/%%{-;1&&1
O
& = X+loo A = f&—eﬁkée
" 58
17 620+ Hipy,of X+00)= (B4 ol
0%, of x ¢ 4y — |94 = 2550
) H
&&/ 6’[‘11 NEGTE ~ 2050 R

—
—_—
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Question 8- A woman spends 20% of her salary in household expenses. Out

of the remaining she spend 10% in education and 50% 1n transportation

expenses. If the amount invested 1n education 1s Rs. 400.Then find the amount

TEe—

spend 1n transportation.

T K 8- Teh e 3191 A T 20% R R @I d @ a2 v 9

e e 9 10% 3T ufiEeT SJa 1 50% @ wLd! 2 Ffe e 7 oy &6 g afst

400 T g, A1 UaTe | @ shi T8 13T J1d i)
30

https://t.me/mathbytarunsirmepl
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Rs 1600
Rs 2000
Rs 1900
Rs 1200

None of these
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Question 9- Train A of length 180 m can cross a platform of length 220 m 1n

50 seconds and the ratio of speed of train B to train A 1s 5:4. Find the length

of train B, if train B cross a man in 20 seconds

T 9- 180 HYST AT 3T A 220 HieT Tl T ol 50 Hehg H IR T Tehell &
A B A A ST T 3T STATT 5:4 B (< ¢ B Teh S i<h bl 20 Hehs H IR
FLt 7, Al o1 B Sl <Al J1d hifsr

A. 100 meter
B. 150 meter
C. 120 meter

—D. 200 meter
https://t.me/mathbytarunsirmepl E. None of these

30
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M Sy= [8+220 o= LT
56 ) <0
= Mo gulge | T 0L
56
HZ@M/&(.
¢ = 2m(gc
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Question 10- What value should come 1n place of the
question mark ‘?’ in the following question?
57 10- FeAfetRad T T U T 2" o T I T 7 3]

TR
24 x 25 — 11 x 32
= 600-19 122 — 140
1 A. 65.65
= %f.; \QL 30 B. 55.55
— C. 85.85
D. 75.75
https://t.me/mathbytarunsirmepl . None of these
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Question 11- What value should come 1n place of the

question mark ‘?’ in the following question?
57 11- FAfeiRad T1 O I T 12" o T 9 7 714 3]

TRT? s
(44 + (14 + 6) =5]2%

-—)QH‘W)XH/X 43
) 43! A. 14
= i/%?-:_lg 30 B. 24
\ €. 12

D. 22

https://t.me/mathbytarunsirmepl E. None of these
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Question 12- What value should come in place of the question

mark ‘?’ 1n the following question?

97 12- eafefad g2 0wy fag 19 o T 9T =T /1 S

ART? 1l/w\\7Q

[(198 x 11) +9] x V16 x /512

25
= U X G
— e 30 A. 111
B B. 121
YN C. 131
R ~b. 242
E.

https://t.me/mathbytarunsirmepl

None of these
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Question 13- What value should come 1n place of the
question mark ‘?’ in the following question?
57 13- FEAfciRad T O U g 2" o T 9 7 714 3]

o

40% of 3600 + 120% of 5466-=?
3600 =hT 40% + 5400 kT 120% = ?

= ,HHO TéH& 0

——

892
782
772

D. 792
https://t.me/mathbytarunsirmepl —E— None of these
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Question 14- What value should come 1n place of the

question mark ‘?’ in the following question?
57 14- FEAfciRad T O U T 2" o T 9 7 714 3]

T2 Z0
V814 — 1050 =35
N EY V512 x 7 — 55
= § = 2& 30 A. 18
sy = B. 28
C. 38
D. 48
https://t.me/mathbytarunsirmepl E. None of these
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v 3- ymafee v 4 w fog 3 o e s
§-5x2+20=7-16

o
P<Cj_—7 P<q iy p>c
U (ii) p<o
(1) p >c
) p<q
(v) p=qorrelationcan’t

be established,
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P~) @Lfmg Question 16-p? —6p +8 = 0
N

q q Question 3- What will come in place of question mark'? in the
following question?

v 3- ymafee v 4 w fog 3 o e s
1

P<?] (i) p>c

] (i) p<c
(iii) p >c
(iv) p=<q

—) p = qor relation can’t
be established,
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- 14 =0
(_}/ Question 17- p p
P (215 5
() p>c
o (i) p<o

A P< (iii) p >c
=1 = V) p<g

(V) p=qorrelation can’t
be established,
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Question 18- The average of 24 numbers 1s 33. If the average of first 12

>

numbers and the last 12 numbers are 28.5 and 40.5 respectively, then find

the sixth number
TS 18- 24 GEAT3T o7 STET 33 2| Il Ygett 12 G133 3ifay 12 g

T 3T ShHST: 28.5 3T 40.5 B, A1 ST TAT J1d hifo

HOLD 26
36
46
56

None of these

30

"o 0w R
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Question 19- The ratio of milk and water 1n a mixture 1s 5 : 4. If 90 liters of

>

the mixture is taken out and replaced by the same amount of water then the

ratio of milk and water becomes 5 : 7. Find the amount of milk 1n original

mixture.
T 19- T fHeror § ger I AT 3t ST 5: 4 21 3fe fasor 36t 90 wiet (e

(2T SITAT & A G A1 § O | ST feram Siar @ o g4 ST it 2t
STIUTA 5: 7 BT ST 2| Tt o201 § ger sht | 1 hifsr A 1751

B. 235L
30 C. 125L
D. 275L

-E_ None of these
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Question 20 — Find the average number of Pen 1n bag A and B.

T 20 — ST A R B H U shl 3T ST J1d hifsH)
A - Qoo
B- 850x9= /0o

A. 185
—B- 570
C. 285
D. 485
E. None of these
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A= 1%

Question 21- The number of pen in C and D 1s what percent of

total of item 1n A.
T 21- C 3R D H U I 68T, A H el I 1 [eohaT T 8?2

83.33%
73.33%
93.33%
23.33%

None of these
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Question 22- Find the sum of the number of books in A and B.
T 22- A 3R B H T&dhl 3h! €&AT shl 1T 1 hts1]

1180

1380

2180 ey —
2280

—E. None of these

S O w >
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() Pook A& 3= 60/% [Re0 = Hoj.dfll00

— Ko+ 440
= /6o
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Question 23- In bag T the number of pen are 40% more in bag D 1n

which ratio of books and pen 1s 15:13. Then find number of books 1s T.

T 23- ST T H U shl HEAT ST D | 40% 3ATe1eh B ST Tecishi 71T U 6
STAIT 15:13 81 A1 T&ohi ohl GEAT T T shiT9Y|

oy W

A. 1100
B. 1300
C. 1400
D. 1200
E.

None of these
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